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1 error correcting code

OO0 1.1. 0 X:0000,#(X)=qO000XOO n0O DeBruijn DO000D00O ¢
0XO0O00OOOODOOOOOO n O window property 00000 O

0 0001011100010111---0 X =F,={0,1} 00 300 DeBruijn000000O
gb13.000obbboogoooboooobon

O01.2(Euler 000) 00000000000 O0DOODOOODOODOOODOOOO
oooooo,0000b0g Euderd0onogon

U0 13. 000 g¢geN, 000 neNUDUOO DeBrugyn0 00000

00 (F)"'0000000000,00-000000000000000000
000000000 F000000,00000y00000000000
000y000000000000000(000000 DeBruijn000
00000000000000000000,F,00 n00 DeBruijn000
00000000000000
00120000 DeBruijn 000000000000000000000
Dzy0000200y0000000000000000R,-100000
0D00000R,-100000000000000000000000000
0000000000
0000020000 (0000)=(000)=¢0000000020000
00 F,000000000000200000¢0000y000000 0
0D0000000y00nr-2000020000--20000000000
D00000y000000000000¢00000000¢000000
0020 (0000)=q0
00000000 1.20000000000000000000000000
0000000000000 DeBruijn00000000

DeBruiyn 0O DODOO0OOOOOOOO0ODOOODOOO
0014, 0¢=20000n00 DeBruijn 0O OO0O0O

22n—1_n

Oo0oo@oooo---00l0000000O0DODOODO)



0000 000d: (F)"x (F)" —NODOOOOOOOOOOO

g

d(X7Y)D = d((xlax%"')xﬂ’L)a(yhy?v”'aym)) - (I’Z 7£ le oo:00 D)
00D (F,)" 0000000000 (HammingDOODOO)

(Dd(x,y) 20 Vx,y € (Fg)", d(x,y) =0 <= x=y
(2)d(x,y) = d(y,x) Vx,y € (Fy)™
goooooodoo
(3)d(x,y) < d(x,z) + d(z,y) Vx,y,ze (F,)" 0000
gooooooooooood
(1 #y0004000)< (1, 22000i000)+ (5 £%w000:000
yoooo
Ti # Y = OTy # 2k, Yk F 2k
® T = 21, Yk F 2k
® Ty F 2k, Yk = 2k
0o000do0oooooo, 00000 k0000 10000000 o,0000n
00000 10000000000000 3)000ooo

000000 dO0 HammingOODOOOO

001.5. 0000000000000 CC (F)" 0000000000 eOOO

O0000000,CO0000 m O e-error correcting code(e 0000 00)0O
ooo

0 O e-error correcting code 000000000 e00O00O0OOODOOOOO

gobobboooobbboooobbbuodteggbbboooon
gogoon

00 1.6. C' O e-error correcting code 00D O00OO0OOOOODOO,

O min dist of CO=min{d(x,y) | x #y,x,y € C} >2e+1
gogooooooo

00 B(x,e)OxeCOOOOOOOOeOOOODOO

= 0000000 x,yeCOOOOOonO

000 ke{l,2,3,---,m}0000O

Tk =Y — Tk = Yk = Zk

Tk F Yo = Tk = 2, Yk 7 2k OT Tk 7 2k, Y = 2k
000000,00 i #y, 000 2, #2,000000 e000000O
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zc (F)"0O0O0OO00O0000O00O00O0O0O00O0O0O0000000000
z € B(x,e) d(x,z)=c¢ d(x,y)=d(x,z)+d(z,y)

O000,z€ B(x,e) JODO0O00 z¢ B(y,e) OO0 d(z,y) > e+ 1
ggn

dx,y) =d(x,z) +d(z,y) >2e+1

000 min dist of C =min{d(x,y) | x #y,x,y € C} >2e+1
Ud < ogggo

B(x,e)N B(y,e) #0000

0000,00z€ B(x,e)NB(y,e)00000

dix,z)<e 00 d(z,y)<e

gogoa,uooooobod

d(x,y) <d(x,z) +d(z,y) < 2e

gooooooon

gooobdbo gboodboboooboobuoobooboob

d(X, Y) = d<X -y, O)

C c (F,)™0O Fy-vector space 0 0 00
min dist of C ={d(x,y) | x#y, x,y € C}

={d(x,0) | x # 0, x € C'} =0min wt of C
gooo

00 Cc (F)™0 F, —vector space 01000

00 1.7.0CcC (F)™, dimC=d00000000 (m—d) xmO0O00 KerP=C
00000 POODOOOOOOOO

00 CcOO00O by,by,bg,---,bg 0000
tb1

*b

,2 x=0000000000000m-dO0O0OD0OO0O

tbd
0000000 py,p2, -+, Pm_ad 000
tbl
tb2
. (pl P2 - pmfd)zo

tbd



(P P2+ Pma )='POOOO

oon

P(lo1 by - bd):O
CO000 PO KerDODOODOODODO
C c KerP

Oo00oooooobobd dmKerP=d,00000 dimC = dimKerP
OO0 C=KerPOOUODOOOOODO POODOOOODODODODOOODOO
gbooboo pOOO0OO0ODOODOODODDODO

00 1.8. 0017000 PO CO Parity check DO ODOOO
001.9. minwtof C={PO0000O0O0O0O0OOOOOOOO0O }

OO0 d=minwtof COODOO

P =(x1,X2, ", Xm) x; € (F)m 9000,
yeC=KerPOoOOOODODOODOODOO d(y,0)=6,000
y=(y1,92,-,y,) 000000600000 O0000OO0ODOOO
y € KerPOO

Y1

Y2
(X1,X2, -+ Xm) | . [ =yiXa+ X+ + YXm =0

Ym
Oo00x,00x,000000000100000000

00 x00 x,000 £k0000 100000000
O0ze KerPOODODODO d(z,0)=k>9

0110 POD0O0Ominwtof C—10000000000000O0

ud ogl19.0000d

2 error correcting sequence

ob21 SOF,000000CO0pOO0OC0OO0OOOO
Shu(S)0 = {(z, 25+ 1, @ipmes) |i=0,1,--,p—1} C (F,)™ (m € N)

0000 m0O e-error correcting code 0O OO0 SOO0O0O0 mO
e-error correcting sequence J 0 0 0000
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o022 F,O0000 SOn0O00 OO0O0OCOOOSOnO0O0O0O
xn+i+an—1xn+i—1‘|‘"‘+a0$i:0 (CLJGFq)<22)
gooooooon ¢"—100000

00 2.3. o(t) € Fyt],degp(t) = k00000000000, 0 F,0000,0
00 (F,[t]/¢t)*0000 ¢t000000¢*—1,000000000000
000

o 2.4.
Tpti + Qp1Tpyio1 + -+ aor; =0 (a; € Fy)
cooobooor,000000000000DOCOODOOOOO
O(t) = 1" + ap_1t" "t -+ ag
godoooodooodoodgo

0025 SOF,00.,00 MOOOOOOSh,(S)u{o}0O
F, — vector space 10 00

00 SO (22)000000000000R00 MOOOODODOOOOmM<nOO
O00000Om>n0000x = (Tm, Ty, --,2x1) 00000
x € Shy,(S) U {0}

= Tpai A 1Tpyi1 + -+ agr; =0 Vie{l,2,---,m—n}
oooo

000 x,y € Shp(S)u{0}000

X = (T, Typ1, -+, T1)

Y = (Yms Ym—1," ", Y1)

000000000000 0000de{1,2,---,m—n}000
Tpti + Qp1Tpyi—1 + -+ apr; =0

Ynti + Qpn1Ynti—1 + - +agy; =0

oo0oooooooooo

(Tnti + Ynti) + @n1 (Tnpio1 + Yngio1) + -+ ao(w +yi) =0
00000,x+yeSh,(S)u{0}00000 keF, 0000
Tnti T n1Tpyi—1 + -+ +agr; =0

— (kxpyi) + an_1(kxpiq) + -+ ap(kx;)) =0

000 kxeShm(S)u{o}0000000 Sh,(S)u{0}O
F, — vector space 10 00



0026.m>n000000S0((22)0000000000000000O0O

ayg a1 - Qp—q 1 o --- --- 0
0O a a -+ ap—1 1 0 -+ 0

PO = }m—n
: 0 ao aq 1
0 -+ -+ 0 a  ap - apq 1

m

O Shp,(S)U{0} O Parity check D0 0O 00O

00 KerP=Sh,(Su{0}0000000>00000
coooa
SOn00 MOODDOOOO#Sh,(S)=¢"—1000000000
m>n00#Sh,(S)=¢"—10000000000
rankP = m—nO00000000000O00O0 dimKerP =nQ000040oo
#KerP = q" = #Sh,,(S)U{0}0000Sh,(S)U{0} Cc KerPOODODODOO
00000 Shyp(S)u{0}=KerPOOOO

00 2.7. Sh,(S)O e—error correcting code 000000000 PODOO 2¢O
Oooooooooooood

00 Sh,(S)0O e— error correcting code
<= min wt of Sh,(S)>2e+1(00 1.600)
< min wt of Shy(S)U{0} >2e+1
< PO0O020010000000(01.1000)

O min wt of Sh,(S)=60000
0>1---00
)>2«— PO0O0 100001000« POOO0OODOODOODOO
>3« POO00O0ODOOODOOO, D0 POOOZ2001000
Shy,(S)C (Fo)mO O OO
)>3<«<— POO0DO0ODDOODOOO,D0 POOOOOODOOO
<:>DDTT71TL|:|DDL

00---0agay---a,_110---
—_———

ooog Sh,(L)D0O0OOO0O0O0O,00000



Jogduotg=20000 1—error correcting sequence 10 U0 0O 0OOOMO
oo0dmOOO L

00---0agay---a, 110
————

DDmDnD Shn,_(L)DOOODODODOO,

0000000 a;(j=1,2,---n—1)0000

0 00000q00000000

t"+ta, "1+ +a0 F,0000000000000000O00O0
O0,0000000000n0000

Tpti+ Qpn1Tpyi1+ - +ax; =0000002"-10000 m0O
1 — error correcting sequence 1 0 00 00O 0O

0 mi00000000000,000 n0000 1—error correcting
sequence U OO OOOOOOOOO
m=2000n=2~k000 m-n=k00 DeBruijn 00 LOOO
00 Sh, (L) 0000000000000 20000000 Shy_n(L)O
0000000000000000O0n > 2—-k00m-—-n < kOO
O2mnr<2k=mO00000
000 m-n=k00 DeBruiyjnO0 00O Sh,, »(L)ODDO00---0000000

goodd DeBruignO QOO 10 2’”‘”/22Qm_”_IDDDmDnDDDDDDD
goboooobbi1ibobbooobobbbooobobooobbooon
U DeBrugyn 0000 0,10 10000000000000O00 DeBruign U
godddddodoooooooogoeo---0o0ooobob obbDbDO

m—n—1
ogooooo, 11---1gdoobfdilgobodooooooooooooon
—

m—n—1

ODeBruyyn0000000200000000000000 sub—DeBruijnO
gooboooob,00bbbo00oobboooobboodgd sub—DeBruijnU
0000000000000 m=2*20000 2000000 n=2k-20
O00m—-n=kF00 sub— DeBrugygn 00000000, 000000000
00o00obooboboboooooooboobooo

00000000 k00O sub—DeBrugyn 000 O000O0OO0ODOOOOOODO
ODOoOoDOo2¥+2-10000 m=2"—-20

1 —error correcting sequence J 00 1 0 U

O0¢=2000 k00 sub—DeBruggn 00 0000000OO0OOOOOOOO
gogbbobuooobbboooobon



k sub— DeBruwijnU0O0O O0OO0OOO0OOO
2 1 0
3 2 2
4 16 2
) 2048 316

OO0 CcOooooOo NDODO sub—DeBruiynO00000,00000000000O
gbbooobodbodobbobboobuooboobbobbooboob
gogbbobuoooobbooooboboooobboago

#include<stdio.h>
#define true (0)
#define false (1)
#define N (5)
#define Q (2)
#define P (10000)
#define M (100)

unsigned long int power(int x,int y)

{
int 1i;
int mul=1;
for(i=1;i<=y;i++)
mul*x=x;
return mul;
}
int pre(const int c[1)/x0 000000 OONOx*/
{ /0000000000000 000O0«/0000

unsigned long int deg=2;
unsigned long int de=1;
unsigned long int i;
unsigned long int n=power (Q,N)-N-2;/x[0 0 */
for(i=2;i<=n+1;i++)
{
de=de<<1;

de=de+c[i];



b

for(i=1;i<=power(Q,n)-2;i++)

{
deg=deg<<1;
if (deg>=power(Q,n))
{
deg=deg de;
if (deg==1)
{
if (i==power(Q,n)-2)
{
return 1;
}
else
{
return O;
}
}
}
}
return O;
}

int count=0;/*sub DeBruijn 00 000000000000 =*/
int precount=0;/x0 0000000000 0OOOOOO0O=/
void deb(int dx)/*sub DeBruijnO U OO0 O OO0 */
{

static unsigned long int j=1;

int i;

static int d[P]={false,true};

static int pos[P]={0,1};

d[power(Q,N)-1]=false;

if (dx==0 && j==power(Q,N)-1)
{
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precount=precount+pre(pos) ;
=
count++;

return;

if (d[dx]==true)

{
d[dx]=false;
for(i=0;i<Q;i++)
{
pos[++j]=i;
deb ((dx*Q+1i) %power (Q,N)) ;
}
d[dx]=true;
}
=
}
int main(void)
{
deb(1);

printf("\n");

printf("%d , %d",count,precount);
printf("\n");

return(0) ;

by
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